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GENERAL CHEMISTRY I/ cxill ares

Question 1

Mot yet
answiered

What is the number of protons, electrons and neutrons in:

3224
WWarked oul af 165

15

T Flag
quirstion

Select one:

(J} a. 16 protons, 18 electrons and 16 neutrons
) b. 14 protons, 16 electrons and 32 neutrons 5
) e. 16 prolons, 14 electrons and 18 neutrons r
) d. 16 protons, 18 electrons and 32 neutrons

) @. 14 protons, 16 electrons and 16 neutrons
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I
uestion £ R ]
Evaluate the following expression to the correct number of significant figures.

al yel

nswered
larked out of

5 4,2680 = 0.82057 = 373,150
" Flag (744.00/76.000) = 2.6880
Uesion

Select one:
|_-'I a.
50,
(1 b
496632
e
49,663
i} d.
50.000

@
49.7
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13 Describe the following set of experiments in terms of precision and accuracy
i i
1 out of o
- “-\\‘
I_..-- "H.“ '\1" \.
. o\
1 | ( " | |
Jn | .. - ',.'I |
.\"'--.__,_.-""’ll
Seclect one:
O a

The experiment is both accurate and precise

-

) b.

Non of the slalements is correct
o

The expariment is accurate but not precise
O d.

The experiment is precise but nol accurate

L e
The experiment is neither accurate nor precise
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“NERAL CHEMISTRY I/ c=&ll aaan

uestion 4 .
4 What is the name of the compound, P;Te;?
ol yet
nswered Te = Tellurium
larked out of
5
- Flag Select one:
juestion
O a.

phosphorus(iV) telluride

oy

O b,

tetraphosphorus heptatelluride
i 3

phasphorus telluride

O d.
phasphorus(VIl) telluride

Q e.
tetraphosphorus telluride
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ERAL CHEMISTRY I/ il pren

When the following equation is balanced and written with the smallest whole number cc
H,07?

ut of CH3NH;(g) + O,(g) -+ CO,(g) + H,0(g) + Ni(g)

Select one:
O a3
O b.16
Q c.10
O d.1

() e B

oOus page
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“RAL CHEMISTRY |/ ol aex

The S| base units af temporature and mass, respactively, are:

of
Seloct ono;

().
Kelvin and kilogram

O b.
Celsius and milligram

QO e
Kelvin and gram
O d.

Fahrenheil and kilogram

O e.
Fahrenheit and gram

page
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NERAL CHEMISTRY |/ il ares

=hinn ?

vk
vered

ved out of

lag
hon

avious page

An example of an element is

Select one:
0O a.
Table salt, NaCl
O b.
Glucose, C:sHy20:
O e
Helium, He
O d.
An oxide ol iron, FesO;
O e.
Limestone, CaCO,
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~RAL CHEMISTRY I/ w2l aeea

of

page

Select one:

O a.

Freezing of water

U b

Combustion reaction
O c.
Depaositicn of gases

d.
Melting of ice

£

:__2 (=}
Sublimation cof iodine

Which of the following I1s considered as a chemica!l eéhange?
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-RAL CHEMISTRY I/ =&l sres

Name the fofiowing compounds:
MnS0. H-O/ CulO,

off

Select one:

-

- .
Mancanese(ll) Sulfats monohydrate | Copperyl) panadat

]

2 b.

Manganese{ll) sulfide hydrate! Copper(l) icdate

c.

Manganese(ll) thiosulfate menchydrate / Copperl)icdide

d.
Manganese{ll) sulfite monchydrate / Copper(l) iodate

()

.

‘.h_‘ Q.
Magnesium Sulfate monchydrate / Copper(l) iodide

S page
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AL CHEMISTRY I/ il pres

How many square melers are in a reclangular piece of plastic whichmeasures 36.0 feet by 20.0 feet?
1m=3937in, 1fL=12in

Select one:
O a
66.9 m’
O b.
37.0m?
O e
60.7 m?
O d
44.6 m?
) e
20.8 m?

Jje
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RAL CHEMISTRY |/ il pran

Whon the following equation s balanced and written with the smaliest wholo number coefficients, what s the coeflicien of
H,07

CH NH,(g) + Ou(g) -« CO;(g) + HiO(g) + Ny(q)

Solecl ong:

al
'b 16
c 10
od

o B
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SENERAL CHEMISTRY 1/ il gaen

uestion 9
Name the following compounds:
Mot yet
answered MnS04y H:0 7 CulDy
Karked out of
L]
¥V Fiag Saolect one:
quesion
L) a.
Manganese(|l) Sullale monohydrata | Coppor|) pericdsle
O b
Manganase(il) sulfide hydrate! Copper(l) indate
e
Manganesa(ll) thiosulfate monchydrate / Copper|(l) iedide
C d
Marganose(ll) sulfile manohydrate | Coppar(l) iodata
i~ | il
Magnesium Sulfate monochydrata / Copper(|) iodide
FProvious page
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et
wefed

kod Gut of

:|ﬂﬂ
shon

evious page

How many square meloers arn in a rectangular pieca of plastic which measuras 36.0 feal by 20.0 fael?

Tm=3037in.,

Solecl one.

Oa
66.9 m?

J b
avom?

O.e
60.7 m?

O d.
446 m?

-
208 m?

1. =12 In
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AL CHEMISTRY I/ 22l aaes

How many grams of NaOH (molar mass = 40.0 g/ mol) are required to prepare 500.0 mL of 0.150 M solution?

Selecl one:
) a. 3.00

) b. 0.60
() c. 240
O d.1.20
O e.1.80

|
- =" ol — _=-_g
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What is the oxidation number of Mn in MnO4™ ?

Select one:
O a.+4

4 O b.+3
O c.#6
O d.+5
O e.+7

3ge
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L CHEMISTRY I/ il pras

How many moles of NH; will be produced from
following equation?

N, + 3H, -—> 2NH,

the reaction of 0.50 mol N5 with 1.2 mol of Hz according to the

Selecl one:

Q a.
1.67

C b.
0.80

O e,
1.0

O d.

0.67

1.33
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L CHEMISTRY |/ il aren

A pure compound composed of C, H and O has a molar mass of 90.09 g/ mol. It gives the following elemental
mass percentages:

C=40.0% and H=6.71%. What is the molecular formula of the compound?
Molar mass (g/mol) : C =12.01; H = 1.008; 0=16.00

Select one:

0 a.CzH40;
O b. C;Hg0;
O c.C4HgO;
O d.CsH100s
O e. CgH1206
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L CHEMISTRY I/ il area

1f 7.32 g of ZnO are obtained from a reaction of 6.54 g Zn with excess of oxygen . What is the percent yield of the
reaction?

Molar mass : Zn = 65.38 g/ mol ; O= 16.00 g/ mol

Select one:

O a.65%
b. 75%
c. 10%
d. 90%

O

QO 0

e. 85%

'
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AL CHEMISTRY I/ il aes

What is the total number of electrons Involved in the following oxidation-reduction reaction?
Al(s) + HCl{aq) =-= AICl;{aq) + H,[g) (Notbalanced)

Select one:
0 a6
) b.2
() c.B8
) d. 10
W
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Which of the following pairs is: weak acid / strong base ?

Select one:
O a. HCl/ NH,

b. HCIO, / NaOH
C. HC;H;Gza“ NH;
d. HNO, / Mg(OH)z

0 & O O

e. HC,H;0, / KOH

je
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\L CHEMISTRY [/ il aren

How many grams Na (23.0 g/ mol) are present in 5.00 mL of 0.10 M solution Na;S04 (142.1 g/ mol) ?

Seloct ona:
' a. D.041

O b. 0.023
O c. 0,051
) d. 0.060

=

. e 0.032

-
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AL CHEMISTRY 1/ ol poess

How many hydrogen atoms are there in 4.05 g of water?
Molar mass: H,0 = 18.02 g/mol; Avogadro No. = 6.022 x 103

Select one:
O a

1.20 x 1022
O b.

2.69 x 1022

O e
4.02 x 1022

O d.

2.71 x 10%°
O e.

1.34 x 1023

L
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AL CHEMISTRY I/ el ares

30.0 mL of AgNO; solution (AgNO; = 169.9 g/ mol) of unknown concentration was Tound to give 1.50 grams of
AgCl(143.4 g/mol) upon addition of excess sodium chloride. What Is the melarity of the original AgNQ; salution?

Seledt one:
_ a.0262
— b.0.174
) ©.0.349
i d.0.523
o 0.200

piz]
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RAL CHEMISTRY I/ «xddl jaea

Upon bumning, a hydrocarbon composed of C and H gave 6.80 g of CO; and 1.39 g of H,0.
What is the empirical formula of the hydrocarbon?

Maolar mass: C=12.0;

Select one:

CH;

page

CO;=440; H.0=18.0
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What is the mass in grams of hydrogen atoms present in 4 molecules of water?

( Atomic mass of H = 1.008 amu; Avogadro No. = 6.02 x 10 =3)

Select cne:
Z a.134x10%
~ b.201x10%
~ c.6.70x 103
— d.1.00x10°
e. 1.67 x 10=°
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\L CHEMISTRY I/ wxll suen

30.0 mL of AgNO; solution (AgNO; = 169.9 g/ mol) of unknown concentration was found to give 1.50 grams of
AgCI (143.4 g/mol) upon addition of excess sodium chioride. What is the molarity of the original AgNO; solution?

Selocl ona:

() a 0.262
' b. 0374
| o 0,349
[ d 0523
o, 0209
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RAL CHEMISTRY [/ il pres

Upon burning, a hydrocarben composed of C and H gave 6.80 g of CO; and 1.39 g of H:0.

What is the empirical formula of the hydrocarbon?

Molarmass: C=12.0;, H=1.01; 0=16.0; CO;=44.0; H.0=18.0

Selact one:

} a,
CH:

O b.
C,H

Qe
CHa4

CH

CH;

page
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What is the total number of electrons involved in the following oxidation-reduction reaction?

Al(s) + HCI(aq)

Splect one:

a6
b2

J c.B

d 10

Taq

—> AICI (aq)

+

H:(g} (Not balanced)
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